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(2) V24+3=A4, V2-3=B, V2+2=C, V2-2=D kB¢,

3)

(V2+2)% -

(vV2-

2)2

_¢*-p? (C+D)C-D)

(V2+3)? -

(V2 -

3)2

~ A2-B?  (A+B)(A-B)
_ (V24+2+4v2-2)(V2+2-V2+2)

(V2 +3+v2-3)(V2+3-vV2+3)
_2V/2x4 2
2y2x6 3

(V- 1)(V2-2)(V2-3)(vV2 - 4)
~(V2-1)(V2-4)(VZ-2)(V2 - 3)

={2—-(4+1)x

=(6 — 5v2)(8 — 5V2)

=48 — (6 + 8) x 5V/2 + 50

=98 — 702

V2412 - (3+2) x V2 +6}



2 3 .
() J==A p=Brslk
<L+i)2_(l_i>2=(A+B)2—(A—B)2=4AB
3 V6 3 V6
a2 .3 _ 24 _ 24
V3T V6 VIS 3v2
_ 8 _ 8xvV2 _ 82
V2 V2Zxv2 o 2
—4V2
[12] (1) V3z =24+ V2T 2 Vir+v2) =1
xzi(\/ﬂ_k\/ﬁ) \/5x+\/ﬁzl
V3
r=2V2+3 \/Elel—\/ﬁ
x:%(l—m)
= Y3 2
5

(13] (1) (VB+V7)2=3+2V21+7=10+2V21
24+ V6)2=444V6+6=10+4V6 = 10+ 2v/24

V21 <24 L0,
(V3+V7)? < (2+V6)?

V3+VT<24V6

(2) (V134+v19)2 =13 +2/13 x 19+ 19 = 32 + 2/13 x 19
Ik 82 =64 L OKNE ILER
82 — (V13 +v19)? = 32 — 2¢/13 x 19 = 2(16 — /13 x 19)
ZZT, 162=256, 13 x19=247 £V, 16 > /13 x 19

Lo,
82 > (V13 + V19)?
8> V13 4+ V19
<AlfEE>
82 — (V13 +v19)? = 64 — (32 + 2V/13 x 19)

=32 —-2v13 x 19
—(VT9— VI3 >0
PEXD, 8> V13 + V19
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[14] MEOHHEE ) LERSIUZ I VOT, 15 —v6 & 54215 DRI % TR X
V. 20O, 22008 EFIERELT, 0 LORNEIHRAIUT LV,
15— V6705 5+ 215 25T
(15— v/6) — (5 +2v/15) = 10 — (v/6 + 2V/15)
ZORN0 LY KRECH, ASVHEHANRLITE, 10 & (V64 2V15) & OR/NE
THEE W, ZNZNE2ELTHL L,
10% = 100
(V6 +215)2 = 64 2v6 - 215 + 4 - 15 = 66 + 12V/10
CTITEBIZI00 & 66+ 12¢/10 &£ DRANE BT 5720125V ThD &,
100 — (66 + 12v/10) = 34 — 12¢/10
IND0 LD KREVD, NEVHREFNBIZIZ, 34D 2FE 12V/10 D 2FDOINZ I
Bdiud v,
342 = 1156
(124/10)? = 1440
EoT, 1210 DFH AR E W,
100 — (66 + 12v/10) = 34 — 124/10 < 0
100 < 66 4 121/10
10 < V6 +2V15
(15 —v/6) — (5+2v15) = 10 — (V6 +2v15) < 0
15— V6 < 5+ 215
V15 — v6 < /5 + 24/15




Vi VBxvs b

X

=

7

VT _ @)
7T VTx VT 7 2T 3v3

3v3 x 3 9
(2] (1) 2v2+4vV2 =6V2 (2) —3v3 —6v3=—-9v3
(3) V6—V6—v6=—-v6 (4) 3v3-8V3+6V3=+3
(5)  3V2-2V3-4v2+3 6) 3+5V5-3V2-4V5-5++2
=(3-4V2+(—2+1)V3 =—2-2v2+4+ 5
=—V2 -3
[3] (1) V24— V54=2V6-3V6 (2) V50 +v32=5V2+4v2
=—-V6 =9v2
3) V27— V108+ V75 (4) V48— V72— V147 + V128
=3V3 - 6V3+5V3 =4V3 - 6vV2 — 7TV3 +8V2
=23 =—3v3 4 2Vv2
(5) \ﬁ”ﬁ (6) _\/24_\/2—7_@
ff\f+3\f = ﬁx§+3\/— \f
zi M _T7V3-6
3
7\/_



VB x5 /10 x V10

V2 x /2
V10
2

310 3v10
) + 10

5v/10 — 64/10 + 3110

10

(V21 +V15) + (—V3)

(4] (1)

20 — V6
2v5 — V6
3vV2 x V6 — 5v3 = 3v/12 — 5V/3

(3)

6v3 — 5v/3
V3
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4 V3-Vv2 V3442
V2 V3
(\/g—ﬁ)xﬁ+ (V3+v2) x /3
V2 x V2 V3 x V3

_V6-2  3+6
2 3
_3/6-6+6+2V6
6
_5VE
6
[51 1)  (V6-v2)? @)  (3v5—2V3)(3V5 +2V3)
=(vV6)? =2 x V6 x V2 + (V2)? =(3v/5)? — (2V/3)?
=6 — 4V3+2 =45 — 12
=8 — 4v/3 =33

3)  (2v3-V2)(2V3+3v?2)
=(2v3)? + (—V2 +3V2) x 2V3 — V2 x 3V2
=12+4V6-6
=6 + 4V6

(4) (24 V2)2 — (2 - V2)?
=(4+4vV2+2)— (4 -4V2+2)
=64+ 4V2 — 6+ 4V2

=8v/2
<RlfEg>
24+2v2=A4 2—V2=B Bkt
(53) = 4> - B
=(A+B)(A-B)
={2+v2)+ 2-V2)H{(2+V2) - (2-V2)}
=4x2V2
=8V2



(5) (1+V2-V3)(1-v2+V3)
={1+ (V2 - V3)}{1- (V2 -V3)}
=1 - (V2 - v3)?
=1—(5—2V6)
=—4+2V6

(6) (\/§+\/ﬂ—3\/§)<‘/ﬁ+%—\/%>

(V34 2V6 - 3V5) (%+M_ﬁ)

2
—(2v6 - V2) (%\/E+ V2 - 76>
=(2v6 — V2)(2V6 + V2)

=24 -2
=22

(6] (AFDOES) =2(3v6 +3v6 + V5) +2(v5 + 2v6 + 3V6)
= 2(6vV/6 + v/5) + 2(v5 + 5V6)
= 22v/6 4 4v/5(m)
(K = (6v6 + v5)(5v6 + vB) — v5 x 3v6 — (v5)2 — 26 x V5 — 3v5 x /6
=30(v6)2 +11v30 + (v5)? — 8v30 — (V5)?

=180 + 3v/30(m?)
3v/6m
- VBm 3v/6m
2v/6m

v/5m

A~

L]

3v5m 3/6m

/]
V/6m

|1 [ ]




A~ Y~ o~ o~ I~~~

—~
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168 FAHIR (3)

il
(1] 1) 2vV3xv2-5V6 2)  VB-V3x V24
=2v6 —5v6 =2v2 — /3 x 3 x 23
=—3v6 =2v2 — 6v2
——4v2
3) V3(2V6-v2) - V32 (4) 2\/35\/ﬁ+\/g+2\/§
=6v2 — V6 — 42
:2\/_—\/6 :M‘F?)\/g—f'fiﬁ
=5 —-V3+3V5+6V3
=45 4+ 5v3
(5)  (2+V3)? 6 (2V2- V5
=22 +2x2x V3 + (V3)? =(2v2)2 — 2 x 2v2 x V5 + (V/5)?
=4+4vV3+3 =8 —4V10+5
—7+4V3 =13 — 4V/10

(3v3 - v2)(3V3 + V2)

(V6 —2)(v/6 + 3)

=(3v3)? — (V2)? —(V6)? +v6—6
=272 G
=25
21 (1) VIS-2V8=3v2-4v2 2 (V2P-2 _2/3-2
=-V2 V2 V2
= —1.414 =212
—2-1.414
— 0.586

(3)  (V8+V12)(—V18 + v27) = (2V2 + 2V3)(—3V2 + 3V3)

2(v3+v2) x 3(vV3 - V2)
6(3—2)
6



(4) —VI2+ (V3P + V6 x V3 + (—V2)? = —2v3 +3V3 + 3v2 - 2V2

=V3+V2
=1.732+1.414
=3.146

31 1) 3—vV2=A4,BL,

(3-v2)?—-6(3-V2)+9=42-64A+9=(4-3)

=(3-v2-3)°
=2
(2) 2-3vV2=A B,
(2-3V2)2 —4(2-3V2) +4 =A% —4A+4=(A—-2)?
=(2-3V2-2)?
=18
(3) VIO+2=A4, 2—-/10=B Bk,

(V10+2)2 - (2—V10)? = A2 = B> = (A+ B)(A— B)
={(V10+2) + 2 - VIO H{(V10+2) — (2 - V10)}
=4x2V10
=8v10

(4) VI5—V3=A, VI5+V3=B Bk,

(V15— V3)? — (V15 + V3)?

—A2_ B2

=(A+ B)(A-B)

={(V15 - V3) + (VI5 + V3)H{(V15 = V3) — (V15 + V3)}

=2V/15 x (—2V/3)

=—4/3%x3x5

——12v5

(B) VT—5=AkBL,
(VT=524+8WT7—5)+15=A>+8A+15=(A+5)(A+3)
=(V7-54+5)(V7-5+3)
=V7(V7-2)
=7—-2V7
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(6) 25 —1=A&BL &,
(2vV5—1)24+302V5—1)+2=A24+34+2=(A+1)(A+2)
=(2vV5—-14+1)(2V5—1+2)
=2v5(2V5+1)
=20+ 2v5
(4] (1) 1 _ V3 — V2
V3+v2 (V3 +V2)(V3-V?2)

_V3-V2
3-2

=3 -2
2) V2 V2(2v2-3)

2W2+3  (2v2+3)(2v2 - 3)
__4-3V2
- (2\/5)2_32
432
T 8-9
_4-3V2
1

=3v2 -4

22
(3) 31
22(2v/3 + 1)
C2V3-1)(2V3+1)
__44V3+22
(2\/5)2 o 12
_44V3+22
12—-1
_44V3+22
11

=4v3 +2

(4) 3\/5 + 2\/§
3v2 —2V3
(3v2+2v3)?
(3v2 = 2v3)(3v2 + 2V/3)
(3v/2)% + 2 x 3v/2 x 2V/3 + (2V/3)?
(3v2)* - (2v3)?

184126+ 12
T 18—12

304126
T 6

=5+ 26
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2 2
G 3 Ve
-2 22 2 22
T24v2 (V21 xvV2  24V2  2-2
22-v2)—2v22+v2)  2(2-Vv2)—2(2v2+2)

(24+v2)(2 - V?2) 4—2
=2-V2)-(2v2+2)=2-V2-2v2-2=-3V2

o 5 3
(6) 1+v5  1-+5
5(1-+v5)-301++v5)  5-5/5-3-3/5

(1+V5)(1 = V5) 1=5
_2-8/5  4v5-1
—4 2

(5] (1) VA<V6<VO kD, 2<V6<3
EoT, a=2 b=+16-2
S2a+b=4+V6—-2=16+2

(2) VO<VIO<V16 £V, 3</10<4
£oT, a=v10-3
a® + 6a = a(a + 6)
= (V10 — 3)(v/10 + 3)
=10-9
=1
(3) 3v5 =45
V36 < VA5 < VA9 kY, 6 <45 < T
£oT, a=6 b=3V5-6
2ab + b* = b(2a + b)
= (3V5 — 6)(3v/5 + 6)
=45—36
=9
(4) 52 =50, T=vV49<\V/50<V64=8 &V, a=7
LoT, b=5V2-7
a a

B2 14b  b(b+ 14)
a 7
(5vV2 = 7)(5v2+7)
__ T
50 — 49
=7
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(5) (V6+v2)2 =8+2/12=8+ /48
V36 < VA8 <49 XV, 6 <48 < T
S8+6 < 84448 < 847

14 < (V6+v2)? < 15
L9 < (VB+V2)? < 16
3 < VE+v2 < 4
IoT, a=3 b=v6+v2-3

4 _ 4 _ _
ey vt 3+ (V6+v2-3)

:74(‘/—4_‘/5) -3+v6+v2-3
=V6-v2+V6+Vv2-6
=2v6 -6
(6] (1) 2=v3-1%Y, 24+1=v3 . (z+1)?2=3
422 +1=3
(2 z=v3+2&0, 2-2=3 - (z-2)?2=3
22 —4drx+4=3
> —4x4+1=0
(B) z=v3+1, y=v3-1&0,
r+y=W3+1)+(V3-1)=2V3
zy=(V3+1)(V3-1)=3-1=2
W22, 22+ =(x+y)? —22y=(2v3)2—2x2=12-4=8
(4) z=vV3+V5 y=v3-v5L0h,
vty =(3+V5)+(V3-v5)=2V3
r—y=(V3+V5) - (V3-V5)=2V5
Wz, 22 —y? = (z+y)(r —y) =2V3 x 25 =415
(71 (1)  z(2z —5y) + y(z + 2y) = 22° — Szy + 2y + 2>
=222 — day + 297
= 2(a? = 2zy +y°)
= 2(z —y)?
ZIT o a—y=(b+V3) - (VE-V3)=2V3 LD,
(Rfk) =2z —y)2 =2 x (2V3)2 =24
2 z+y=02+vV2)+(V2-1)=2vV2+1
ry=02+V2)(V2-1)=v2(V2+1)(vV2-1)=V2 x 1 =v2XD,

%x2+xy+%y2= %( ?day +y?) = %{(:r+y)2+2xy}
:%{(2\/54—1)24—2\/5}:%(84—4\/54—14—2\/5)
_9+6v2
4
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! V3 V3 3 3 ,

1\ ) L 1
(4) (90-1-—) = +2><ac><—_|__2_x _’_2_’__2;0'
x z " -
2
x2+%=($+%) —2:(\/5—2)2_2:5_4:\/54%_2:7_4\/g

2
(5) (.’E—l) {L’2—2X!’Exi+%:x2_2+%;k)'
X - . ;

1 1N ,
72 (x ;C) +2_(\/§+\/g) 19
=2+2VI0+5+2=9+2V10

[81 (1) y=+a2—4da+4+a®+4a+4
=Vi0e=27+V({a+2

=la—2|+]a+2]
£oT,
(a—2)+(a+2)=2a (2<a)
y=y-(a-2)+(@@+2)=4 (—2<a<2)
—(a—2)—(a+2)=—2a (a<-2)
(2) (1) &9

a=24V2DLE y=2a=44 22
a=2-V20rE y=4

[9] (1)

$—1_\/§x+5 - )
5 =4 OWRE4V2ERIT,
4(x—1):\/§(\/§x+5)

20 =5v2+4

_ 5V2+4
2
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V32 =2y =1 ®
OxV3-@xv2 &b,
_V3-V2
v="135
OxV2+@xV3 &b,
Lo V243
5
o w:@,y:@
1 12
R NG RAV. NG RN NV
_ 1+v2-3 B 12(v2 — V3 —V5)
L+vV2+V3)(1+V2-V3) C(V2-V3+Vh)(V2- V3 -5
__1+v2-V3 _12(/2-V3-V5)
1+2v2+2-3 (V23?2 -5
_1+v2-V3 19(V2 - V3 - V5)
2v2 T 2-2/6+3-5
WS APRLOVE 12(/2- V3 - V5)
22 x /2 = 26
_V2+2-+6 C12(/2- V3 - VB)VG
4 T oV6x 6

12(VI2 - VI8~ V30)
a —12

=—2v3 +3v2+ V30
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V-2  (VT-2)(VT7+2)

_3(WVT+2)
Y
=V7+2
_ 3 3(W7T-2
YT 2 T VT 2(WVTi-2)
_3(V7-2)
T4
=V7-2
IV, a4y=27 ay=7—-4=3, z—y=4
1) 2+ (2) 2%+ 3zy+2y°
=(z+y)* —2zy =2(x +1)* — 2y
—(2V7)?—2x3 =2(2V7)* -3
=28 — 6 =56 — 3
=22 =53
3 ~+1L 4) VTV
i+yy \/——\/ﬂ
=y . W)
27 Vz = Y)WV + /)
=3 _T+2/Tty
r—y
_2V/T+2V3
4
_VT+V3
2

[12] (1) (Va+ vb)? =a+ b+ 2Vab
2) O V3+2V2=142+2/ITx2,ADE, L= Loz (1) OFHBLD a =1,
b=2, L7 —ATHoEEZLNL. Lo,

V3 +2v2=1/(V1+V2)?
=1+2
=1+4141=2.41

® ¢5+2¢6:¢2+3+2m

— V2t vape

=v2+V3
=141+ 1.73
—3.14
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® V11 -2V24=+/8+3—-2/3x3
ZZT(Va-Vb)2=a+b—2VabtnbIEnb,
\/8+3—2\/8>< :\/(\/——x/E)Z‘
=V8-3

=2v2-3
=282-1.73
=1.09

@ \/21+6\/6=\/21+2x/ﬁ

=/ (V18 + v/3)?
=184+ V3

=3v2+V3
=423+ 1.73
— 5.96

=~
+
[\
B

S

+41
V2
~ (VB+1V2
V22X V2
_ (V3+1V2
2
L (1L734+1) x 141
2
= 1.92465
= 1.92
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(1] @1  (3v2-2)° 2)  (V2+2)>-2V8
=(3v2)2 — 2 x 3v2 x 2 + 22 =(vV2)24+2xV2x24+4—-2x2V2
=9 x2—12v2+4 =6
=22 — 12V/2

(3)  (VI8+3V5)(3V2 — V45) = (3v2 + 3V5)(3v2 — 3V5)

= (3v2)" - (3V5)?
=18 45
=27

(4) /a2 32

3 \/§)+\/; L
—(v2)? — 2v2 x V3 + (V3)? +
o oVG434 VB _2V6

2 6
. _12%3‘2\/6

_5_ 116
6

216
V6 x /6

S5

(5) V5+1=A4, V5-1=B B L&,
(Vb+1)2—(V5—1)>=A>—-B?>=(A+ B)(A—B)
={(VB+ 1)+ (V5-D} x {(V5+1) - (V5-1)}
=2v5 x 2
=45

(6) 2VT+1=A B L,
CVT+1)2—202V7T+1)+1=A42-24+1
= (A—-1)?

= (2V7)?
— 28



() V6+2=A LB L,
(V6+2)2 —8(V6+2)+16 = A2 —8A +16 = (A — 4)?
=(V6+2-4)%=(V6-2)?
=6-4V6+4=10—4V6

(8) VB+8=A B L,
(V3+8)2—11(V3+8)+24=A>—11A+24 = (A—3)(A—78)
= (V3+8—-3)(V3+8—8)

=(V3+5)xV3
=3+5V3
2 1 V3+V2
L) 2=V B =
—1.414 = 1.414 4 1.732

= 3.146

3) 2+v3 __ (2+V3)°
2-v3  (2—-V3)(2+V3)

_ 444V3+3
- 4-3

=7+4V3
—13.928

(4)  5(/2+V3) . _6/2

V813 1-3

5(vV2+v3)(2v2 + V3) N 6v2(1 +v/3)

(2v2 - V3)(2vV2+V3) 1-3
5(4 4 36 + 3) L 6v2+6v6
8—3 )

=7+3V6-3vV2-3V6

=7-3V2

= 2.758
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B8] (1) O Va<VT<VOXD, 2<V7<3 . a=2
@ a+b=VT%0, b=VT—a=+7—2
® b2+2ab=b(b+2a) = (V7 —2)(VT7—2+4)
(V7 =2)(VT+2)
—4

7
3

(2) ©® V16 <3vV2=+18 <25 £V, 4<3V2<5 a=4

@ a+b=3v2 &0, b:3\/§—a\/§3\/_—4

b 4 3vV2 -4
® T Tt3T3ms T 3
B 4V2+1) L 3v2-4

C3(V2-1)(V2+1) 3
4\/§+4+3\f—4

3 3

V2
-3
_ 1 1 1 1
(4] (1) Y= E St e (2) ey Sy
_ V524542 =L
(V5+2)(v5-2) I
=25
3) 2 +y*=(r+y)® -2y (4) i+£:y2+x2
= (2V5)2—2x1 vy B 18”
=20-2 =1
=18 =18

(5) x4+y4=($2+y2)2—2x2y2

= (2® +9%)* — 2(ay)?
=182 -2x 12
=324—-2

=322



(1] (1) 11v2
2) 6

3) V3
4
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(5
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